CSE 321:

Solution to Practice Final:

1.

2.

3.

True or False.

Fill in the Blanks
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Discrete Structures



a) 225

b) 1/2

c) (1/4)/(3/4) =1/3

d)25-1/2 =125

&) S5 (2-1/2-1-1/2) =12.5
) 8
)

a
b) 81 —6 !
¢)8!—6!1—51+3!

d) () -7

(a) (3/4)59.(1/4)50 _
‘ (15000) (3/4)50-(1/4)50 (15000)
(b) 100 -3/4 =175
(c) The expected return is 50 - [(3/4)% + (1/4)?] + 100 - [2- (3/4) - (1/4)].
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. 486 =1 -446 + 40
446 =11-4046

40=6-6+4
6=1-442
4=2-240

Thus, ged (486,446) = 2
(1(7)0)'(n79é00)
A
(b) () - ()7 (1 — 250y
. By induction on the number of vertices. (Note that in an undirected,

connected graph without cycles, there must exist a vertex with degree
one).



12.

2), (1,
1

a) The reflexive-symmetric-transitive closure of R is {(1, 1
2,4),(5,6),(1,1),(2,2),(3,3),(4,4),(5,5),(6,6), (2,1),(3,1), (4
6.5), (1,4), (4,1)}

b) 2(2)

a) 626

b) 6% — (%) -6 !

¢) R is not an equivalence relation, since it’s not reflexive.

d) It’s an equivalence relation. And there are (g) (g) words.
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